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Q1. [bookmark: OLE_LINK3][bookmark: OLE_LINK4](6+4=10 pts.)The state insurance commissioner believes that the mean automobile insurance claim filed in her state exceeds $1,700.  To test this claim, the agency has selected a random sample of 20 claims and found a sample mean equal to $1,733 and a sample standard deviation equal to $400. They plan to conduct the test using a 0.05 significance level. Based on the sample data, 
a. What should the state insurance commissioner conclude?



























b. Which of the two statistical errors might have made in this case? Explain.


Q2. (4 pts.) The following information is available for two samples selected from independent populations:
Population 1: n= 16 S2 = 47.3     and   Population 2: n= 13 S2 = 36.4
Assume that two samples are selected from independent normally distributed populations.
At the 0.05 level of significance, is there evidence of a difference in 1 and 2?












Q3. (2*8=16 pts.) Recently at a sales meeting of the Insurance Service Company, a statement was made that there is no difference in the average whole life insurance coverage for clients in Wisconsin and Ohio. Managers decided a test of this statement should be made because the conclusion could affect the sales promotion that was being planned. To test the claim, a random sample of 25 clients was selected from Wisconsin and another sample of 35 clients was selected from Ohio. The sample was analyzed with the following results:
	Wisconsin
	Ohio

	

	


	

	



It can be safely assumed that the populations are normal with approximately equal standard deviations.
Answer all questions below using the information provided above and  of 0.05.
1) Which of the following is the correct null and alternative hypotheses?
a) Ho: 1 - 2  > 0 versus Ha: 1 - 2 < 0
b) Ho: 1 - 2  = 0 versus Ha: 1 - 2   0
c) Ho: 1 - 2  < 0 versus Ha: 1 - 2 > 0
d) 

Ho:  = 0 versus Ha:  0
e) None of the above
2) Which is the correct and exact sampling distribution for the statistic?  
a) Normal with mean difference = 0 and standard error = 26.6733
b) Normal with mean difference = 0 and standard error = 6.9847
c) t with degree of freedom = 58 and standard error = 26.6733
d) t with degree of freedom = 58 and standard error = 6.9847
e) None of the above

3) Which of the following is the correct critical region for the test?
a) Reject Ho if  Zstat > 1.645, otherwise don’t
b) Reject Ho if  Zstat < -1.96 or if Zstat > 1.96, otherwise don’t
c) Reject Ho if  tstat < -2.0017 or if tstat > 2.0017, otherwise don’t
d) Reject Ho if  tstat > 1.6716, otherwise don’t
e) None of the above

4) Which of the following is the correct computed test statistic? (3 points)
a) Zstat  = 1.6493	 b) Zstat  = 1.68263      c) tstat  = 1.6493    d) tstat  = 1.68263    
e) None of the above

5) Which of the following is the correct decision for the test?
a) Reject Ho           b) Do not Reject Ho      c) Reject Ha      d) Do not Reject Ha

6) Which of the following is the correct conclusion?
a) Have sufficient evidence that the population means of life insurance are different
b) Not sufficient evidence that the population means of life insurance are different
c) Have sufficient evidence that the population mean difference of life insurance is zero 
d) Not sufficient evidence that the population mean difference of life insurance is 10.52

7) Which of the following is a decision error you may have committed?
a) Failing to Reject Ho when Ho is false
b) Failing to Reject Ha when Ha is false
c) Reject Ho when Ho is true
d) Reject Ha when Ha is false  
e) None of the above
[bookmark: _GoBack]
8) If you want to test the equality of the variances from the two populations, which of the following is the correct test statistic to use? 
a) 24.8/27.90     b) 27.90/24.8    c) 778.41/615.04  d) 615.04/778.04   e) 66.42/54.90 
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